3 SIDED KIOSK
INSTRUCTIONS

MC3220 REV #3
1/16/2023

~J—



3 SIDED KIOSK

INSTRUCTIONS

e '

Z
3
Message Centers
\é AMC-A0034
4 x 4 Posts
AMC-P0097

OTHER REQUIRED MATERIALS
FOR INGROUND MOUNTING
(NOT INCLUDED)
2 - 80lb BAG OF SAKCRETE
1 - POST HOLE DIGGER
- GUIDE WIRES
- AFRIEND TO HELP

.

Roof
AMC-A0035

Top Frame Support
AMC-A0033

Boftom Frame Support
AMC-P0096

COMPONENTS &

TOOLS REQUIRED
FOR ASSEMBLY




3 SIDED KIOSK N\

INSTRUCTIONS

12 24
1/4" x 1-1/2" Lag Screws 1/4" x 3-1/2" Lag Screws
HLAG025C150188 HLAG025C350188
=
36 9
1/4" Flat Washers #8 x 1-5/8" Flat Head Screws
WUSSO25WAS188 DSSFO10C400188

REQUIRED TOOLS
(NOT INCLUDED)
1-7/16" SOCKET
1 - SCREW GUN
1-LEVEL COMPONENTS &
1 - #2 SQUARE DRIVE TOOLS REQUIRED

k FOR ASSEMBLY 2/10 J




3 SIDED KIOSK I
INSTRUCTIONS

Pockets always face down
1-1/2" Lag Screw always in inside corner

o Uy
N
© &

Inside Corner

Inside Corner

Outside Corner

Posts are marked with guide holes

NOTES ON




3 SIDED KIOSK
INSTRUCTIONS




3 SIDED KIOSK

INSTRUCTIONS

Attach second frame supports

Attach second post

Inside Corner

NS UUR 5/10

K FRAME SUPPORTS Y,




3 SIDED KIOSK
INSTRUCTIONS

Attach third frame supports

Attach third post

STEP 3

ATTACH THIRD
FRAME SUPPORTS 6/1 0 /




3 SIDED KIOSK N\
INSTRUCTIONS

Attach Roof

Raise the top of the frame assembly at least 10 inches off
the ground to attach the roof
Secure roof using the #8 x 1-5/8" flat head screws (l) provided




3 SIDED KIOSK N\
INSTRUCTIONS

Inground Mount

Stand the frame assembly upright and place in desired area
On the ground, mark the location of the posts
. Dig three 12" diameter holes to a depth of 2 to 3 feet
(Some areas require deeper holes due to frost, see
map on next page)
* Place assembly into the holes, level and fill with concrete
* You may need to use guide wires to hold the assembly
level while the concrete sets

POST
l:"/

Ground

Galvanized
Nails or
Deck
Screws as

''''' FOOTING ~ anchors - -

Frost Line

Post in Poured

Concrete Footing

INGROUND
K MOUNT

STEP S5




3 SIDED KIOSK I
INSTRUCTIONS

FROST LINE
DEPTH
(INCHES)

m > 48"

— 32"-48"

m 18"-32"

X% ©0"-18"
< 0"

FROST MAP




3 SIDED KIOSK \
INSTRUCTIONS Attach Message Centers

Set a message center (B) into the frame assembly

Insert four 1/4" x 3-1/2" lag screws (G) and 1/4" flat washer (H)
through the guide holes in the top and bottom of the
message center (B)

Tighten and repeat for the other two message centers

1—Guide holes




THREE-SIDED KIOSK MC2220 REV #3
INGROUND MOUNT /16/

8.230 - -
| : 11.903

73.000

118

.238

—~—— 34.802 —

FRONT

58.041

50.568

TOP



MC2220 REV #3 7\

THREE-SIDED KIOSK VS e b OST—

INGROUND MOUNT

9]

Y

7 v| 30.000 in

KEYED LOCK

7
<]<l<]

READY-TO-MIX

VARY/
v
V\V|
v
VARY/
CONCRETE— |’
v
VARY/
\V4
vV V

~ 26.000 in

Y

qf

——3/16" UV-RESISTANT
ACRYLIC WINDOW

i /: - -—

Y

<

12.000 in

— 20.313iIn——= |

MOUNTING DETAILS

— ]

1.750in

©,

| /~—5/16"RECYCLED RUBBER

35.000in|| | 28.375in !
| | l | 6in.
[ | OVERHANG
B | OVERHANG DETAILS
‘ I ] |
e — ®

|| — ey — = —
STAINLESS STEEL —=— ~—1.000 in
HINGES 3.500 in 1= —

O MESSAGE CENTER DETAILS
1

HARDWARE: STAINLESS STEEL

MATERIAL: RECYCLED PLASTIC, ACRYLIC, 5/16" RECYCLED RUBBER

S

? —RUBBER

H

|8

P

@ MESSAGE CENTER DEPTH DETAILS



	COVER
	Drawing View70

	PG 1
	Drawing View74
	Drawing View76
	Drawing View77
	Drawing View78
	Drawing View79
	Drawing View80
	Drawing View81
	Drawing View82

	PG 2
	Drawing View85
	Drawing View88
	Drawing View89
	Drawing View93

	PG 3
	Drawing View57
	Drawing View69
	Drawing View94
	Detail View R (1 : 2)
	Drawing View96
	Detail View T (1 : 3)

	PG 4
	Drawing View98
	Drawing View102
	Detail View U (1 : 5)
	Detail View V (1 : 5)

	PG 5
	Drawing View99
	Drawing View105
	Drawing View106

	PG 6
	Drawing View100
	Drawing View107
	Drawing View108

	PG 7
	Drawing View101
	Drawing View109
	Drawing View110
	Detail View W (1 : 10)

	PG 8
	Drawing View60
	Drawing View113

	PG 9
	PG 10
	Drawing View114
	Drawing View115
	Detail View Y (1 : 10)
	Detail View AA (1 : 10)

	Specs 1
	Drawing View130
	Drawing View132
	Drawing View133

	Specs 2
	Drawing View124
	Drawing View125
	Detail View C (1 : 12)
	Drawing View127
	Section View D-D
	Detail View E (1 : 4)


